Easy as Japanese Sums by Salih Alan

Rules: Fill some cells with numbers 10 7 10 7
1-5 so that each row and column 1 2 111 413 2
contains each number exactly once 4 3121 4
as well as three empty cells (1-4 and ol 1431
two empty cells in the example). 6 4 IR
Numbers outside the grid indicate the 3|21 43
sum of all numbers in the first 8 > 8l3 a1 5

connected group in that direction as in

a Japanese Sums puzzle. 95 95

Example by Serkan Yurekli

1. 8.8.8.8 ¢
11 11

11

12
12

1N

1N

12

10 105 5 5
Almost All Triples
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